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ALGEBRA 1 REVIEW FOR SPRING SEMESTER EXAM
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Graph the inequalities below and shade the solution.
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1.   y  >  -3x + 1                                       



	2.   x  >  -2                                                      

y  
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  2x  +  7                                           



	3.  Circle the following points that are in the solution set of problem  #2.

(-5,-6)         (-7,2)         (1,4)         (-1,8)         (3,-4)



Simplify the following problems.

	4. (2x4)(5x3)  =  _________________


	5.  (4x7)(2x4) – (6x6)(5x5) = ________

	6.   (x + 2)(x – 3)  =  ______________


	7.  (3x – 2)(2x + 3) = _____________

	8.  4t(2t2 – t – 5) =  ______________


	9. 2x2y(2x2 – 3xy + y2) =  _____________


	10. (-4c3)3  =  ____________


	11.     (4x2y)2(-3xy2)3  =  ____________
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12.   Find the volume of this solid.

V  ___________________




Simplify.

	13.    32a2bc3   =

          20abc            ____________


	14.  6c3d    =

        3cd                       ______________


FACTOR COMPLETELY.

	15.   18x – 12y + 36     _____________


	16.   64x2 – 25y2     _______________



	17.  x2 + 20x + 36     ______________


	18.  r2 + 7r – 18     ________________

	19.  3p2 + 7p – 6     _______________


	20. 2x2 – 15xy + 7y2  ______________

	21.   5a2 – 20b2       _______________


	22.  6n3 – 21n2 – 45n   _____________


What are the solutions.
	23.   (n + 1)(n + 9)  =  0                                                          _____________________________



	24.    (4x + 1)(x – 5)  =  0                                                  _____________________________



	25.    x2 + 14x + 48  =  0                                                         ____________________________



	26.     3a2 + 4a  =  4                                                               _____________________________




Solve using the Quadratic Formula.  Round your answers to the nearest tenth.

	27.  6x2 – 5x – 2 = 0

Answers:  ____________________



	28.   x2 +  8x + 3 = 0                            a = ______ b = ______ c = ______

Answers:  ____________________



	29.   6x2 = 1 – 4x                                  a = ______ b = ______ c = ______

Answers:  ____________________



	30.  Find the missing factor:      48p5q4  =  (2pq2)(4pq)__?__

ANSWER:  ________




What are the solution(s)?
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31.                                                 32.                                                  33.  

     __________________                   ___________________                 _________________




Write the equation for the parabola:  y = x2
	34.  Shifts up 4 units                            ANSWER:  __________________



	35.  Make parent function wider           ANSWER:  _________________



	36.  Tiger Woods hits a golf ball into the air The equation that describes the path of the ball is    h = 55t – 5t2.  Answer the folowing questions using the information given.

	A. _________________How high is the ball after 2 seconds?



	B. _________________When will it first reach 140 meters?



	C. _________________ When will it hit the ground?

	37.  At which points does the graph of f(x) = x² + 2x – 48 intersect the x-axis?



	38.  For the function y = 4x² + 3x – 1, what is the value of y when x = -3?



	39.  What is the vertex of y = 4x² + 3x – 1?



	40.  EVALUATE:   
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  where a = -1, b = 7, and c = 2.




ANSWERS

1.  74 peanut M&Ms

2.  29 in by 34 in

3.  80 chair back seats

4.  x < -1

5.  –9 < x < 1
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6.  
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7.  

8.  ( 1, 4 )

9.  x < 4.2 hours

10.  3x – 6

11.  2a² + 4a – 9

12.  10x7
13.  –22x11
14.  x² - x – 6

15.  6x² + 5x – 6

16.  8t³ - 4t² - 20t

17.  4x4y – 6x³y² + 2x²y³

18.  –64c9
19.  –432x7y8
20.  V = 6a³

21. 
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22.  2c² - 4d² - 5

23.  6(3x – 2y + 6)

24.  (8x + 5y )( 8x – 5y )

25.  ( x + 18 )( x + 2 )

26.  ( r + 9 )( r – 2 )

27.  ( 3p – 2 )(p + 3 )

28.  ( 2x – y )(x – 7y )

29.  5( a + 2b )(a – 2b )

30.  3n( 2n + 3 )(n – 5 )

31.  ( x + 3 )( x + 3 )

32.  x² + 6x + 9

33.  –1, -9

34.  0, -¼, 5

35.  –6, -8

36.  
[image: image4.wmf]2

3

, -2

37.  1.1, -.3

38.  -.4, -7.6

39.  .2, -.9

40.  6p³q

41.  y = ( x – 3 ) ²

42.  y = ( x + 3 ) ²

43.  y = x² - 3

44.  y = x² + 4

45.  y = ( x – 2 ) ²

46.  Parallel: 5

       Perpendicular: -
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47.  A.  y = 2( x – 4 ) – 3

       B.  y = 2x

       C.  y = 2x – 4

       D.  y = 2(x + 7 ) – 3

48.  Shifts down 4

49.  B.  h = 90 meters

       C.  4 seconds

       D.  11 seconds

50.  9

51.  4

52.  –8, 6

53.  26

54.  ( .4, -1.5)

55.  $10629

56.  8 and 9

57.  
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 EMBED Equation.2  [image: image9.wmf]
60.  4a²x²
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61.  5xy
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62.  16.4 cm

63.  
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64.  
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65.  96

66.  
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69.  –90

70.  
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71.  0

72.  28

73.  y = 4x + 19
74.  y = -2x + 5

75.  255 students

76.  ( -7,-15 )

77.  13

78.  2 
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